





DISCLAMER

Cryptocurrency trading is highly volatile, with prices subject to unpredictable fluctuations. Investing in cryptocurrencies involves considerable risk, and historical performance should not be viewed as a reliable indicator of future outcomes. Potential losses may exceed the initial capital invested. It is imperative to conduct comprehensive research and assess your risk tolerance carefully before making any investment decisions.







Black Hunter Market TRADER

A similar graphical interface will help you get used to the platform quickly, while unique integration with centralised exchange enables traders to trade commodities and indices in addition to Forex. Traders can place eight types of pending orders to get more precise control over open positions. Black Hunter Market allows intraday swing trading or position trading.

With over 15 years of expertise in Crypto, Crypto Arbitrage, and Forex Trading, Black Hunter has consistently led the way in navigating complex financial markets. Our deep industry knowledge and proven track record empower us to offer innovative, secure, and profitable solutions for individuals and communities worldwide.



SWITZERLAND, US, DUBAI & U.K







What is Cryptocurrency?

Cryptocurrency is a digital or virtual form of money that uses cryptography for security. Unlike traditional currencies, it operates independently of a central bank. Cryptocurrencies leverage blockchain technology, a ledger that ensures transparency and security by recording transactions across a network of computers.





ARBITRAGE TRADING

Arbitrage is the simultaneous purchase and sale of the same or similar asset in different markets in order to profit from tiny differences in the asset's listed price. It exploits short-lived variations in the price of identical or similar financial instruments in different markets or in different forms.

ARBITRAGE TRADING

ARBITRAGE TRADING

Arbitrage is the simultaneous purchase and sale of an asset in different markets to exploit tiny differences in their prices.

Arbitrage trades are most commonly made in stocks, commodities, and currencies, but can be accomplished in with any asset. Arbitrage takes advantage of the inevitable inefficiencies in markets.















What Is Forex!

Forex is one of the most enormous and liquid markets around the globe. In 2010, the forex market accounted for more than 3 trillion dollars of daily trading. Over the last decade, a 40% increase in the daily volume of forex trade with 6.6 trillion Dollars each day is seen. This marks a nine-year peak since 2010. But the surprising fact is that the market did not exist a century ago. Unlike the stock market, we cannot trace the roots of the forex market.





Our Activation

Packages

1 36\$

FREE BLACK HUNTER 36 TOKEN

Individual

2 70\$

FREE BLACK HUNTER 70 TOKEN

Individual

3 150\$

FREE BLACK HUNTER 150 TOKEN

Individual





4

300\$

individual

300\$

\$300 Self + \$300 Trade

With Trade

5

600\$

individual

600\$

\$600 Self + \$600 Trade





6

1200\$

individual

1200\$

\$1200 Self + \$1200 Trade

With Trade

7

2800\$

individual

2800\$

\$2800Self + \$2800 Trade





8

5600\$

individual

5600\$

\$5600Self + \$5600 Trade

With Trade

9

11500\$

individual

11500\$

\$11500 Self + \$11500 Trade





10

23000\$

individual

23000\$

\$23000 Self + \$23000 Trade

With Trade

11

46000\$

individual

46000\$

\$46000 Self + \$46000 Trade









12

92000\$

Individual

92000\$

\$92000 Self + \$92000 Trade

With Trade

13

184000\$

Individual

184000\$

\$184000 Self + \$184000 Trade





TYPE OF INCOME

BLACK HUNTER

INDIVIZUAL PACKAGE

- DIRECT SPONSOR INCOME
- LEVEL INCOME 4 TO 20 UPLINE
- GLOBAL OUTO POOL INCOME
- DOWNLINE INCOME 2 TO 12
 LEVEL

WITH TRADING PACKAGE INCOME \$300+300=600\$

- 0.45% SELF PACKAGE ROI
- ROI ON ROI LEVEL 1 TO 6
- LEVEL INCOME 4 TO 20 UPLINE
- LEVEL INCOME 2 TO 12 LEVEL DOWN LINE
- GLOBAL AUTOPOOL INCOME





ROI ON ROI

PACKAGE 1 = 10%

PACKAGE 2 = 7%

PACKAGE 3 = 5%

PACKAGE 4 = 3%

PACKAGE 5 = 2%

PACKAGE 6 = 1%



BLACK HUNTER

AUTO RE-TOPUP EXAMPLE

1	\$ 36 x 3 = 108 \$	After Auto Re-top Up
2	\$ 70 x 3 = 210 \$	After Auto Re-top Up
3	\$150 x 3 = 450 \$	After Auto Re-top Up
4	\$ 300 x 3 = 900 \$	After Auto Re-top Up
5	\$ 600 x 3 = 1800 \$	After Auto Re-top Up
6	\$ 1200 x 3 = 3600 \$	After Auto Re-top Up
7	\$ 2800 x 3 = 8400 \$	After Auto Re-top Up
8	\$ 5600 x 3 = 16800 \$	After Auto Re-top Up
9	\$ 11500 x 3 = 34500 \$	After Auto Re-top Up
10	\$ 23000 x 3 = 69000 \$	After Auto Re-top Up
- 11	\$ 46000 x 3 = 138000 \$	After Auto Re-top Up
12	\$ 92000 x 3 = 276000 \$	After Auto Re-top Up
13	\$184000 x 3 = 552000 \$	After Auto Re-top Up







USDT LONE TERMS & CONDITIONS



- 36\$ Self Package Compulsory Are You Eligible Lone Fund
- Are You 36\$ Above And Self Package But Your Direct Sponsor 300\$ And Above 10 Direct Sponsor Are You Qualify Lone In Your Account
- First Your Lone Amount Active Your 70\$ And 150\$ Self Package And After Your 300\$ Self And Trade Package Active
- USDT Lone Fund On Trading Active Package Sharing Profit Company And Id Owner
- Id Owner 70% Every Package,
- Company 30% Re-topup Every Package



TOKEN ROAD MAP

BLACK HUNTER TOKEN (B.H.T)

300 DAYS AFTER IAUNCH OUR TOKEN THIS PROJECT FREE SELL ALL TOKEN ARE STAKING

- 36 70 150
- ALL ARE STAKING AND MORE BENEFITS.





- BLACKHUNTER

TERMS & CONDITIONS

- Invester Self Package with Trade 667 Days Total Profit till 3X.
- individual package or with trading package 3x after re topup automatic.
- 3x in include level income down level income, auto pool income Roi + Roi on Roi.
- Are you active only individual package, and after active with trading package with trading package active after your Roi and Roi on Roi income start
- The project available USDT Loan (condition: your self package 300\$ and above same package individual or with trading 10 direct sponsor company set you lone
- USDT loan amount trading profit sharing customer + company (70% customer, 30% company)
- Loan amount 3x after top-up 3x profit sharing customer 70% to company 30%



blackhunter.live

See you next again smart people

BLACK HUNTER

THANK YOU





This Pdf Is Design By Graphic Designer Sanu

+91 6297815470

sanugfx.com